Spare parts box EVO Cleaner

Description

Electric Motor 70 rpm
Electric Motor 220 rpm
Turning Gear incl. Motor
Print-board

Crimp pin, print-board
Nut M4

Bearing 2023-16
Magnetic sensor MGT201
Cable M12

Swivel 90°

Tube cone

Nut, tube connector
Charger connector
Bearing 6001

Bearing 6200

Chain Lock 3/8"

Split Pin

Lid for operators panel
Lock-ring 10 mm
Lock-ring 12 mm
Lock-ring 20 mm
Lock-ring 24 mm
Lock-ring 25mm
Lock-ring 28mm

Tube -pin 8x40

Tube -pin 3x16

Tube -pin 4x20

Shrink Tube Set 150 mm
Shuttle wheel small, complete
Shuttle wheel large, complete
Fuse 30 A, Flat

Plate outerboom

Plate middle boom

Cable Shoe 6,3x0,8 1,5mm2
Joystick switch

Qty

1
1
1
1
10

4
2
1
1
1
2
2
2
1
6
2

10

P/N
909240
909241
909242
909054
901169
941098
909203
989205
989204

961003V
961032RF
961031RF
909234
931001
931004
901104
941049
1109518
941041
949009
941040
949013
941079
949011
941070
949017
949018
45518
1109531
1109532
901168
1401003
1401005
45313
901165

Description

Sealing washer 3/8"
Sealing washer 1/4"
On/off button PV-5
Silicone cover, joystick
Actuator Pin
Magnet-block rilsan

Bolt M8x16

Nut nyloc M8

Nut nyloc M6

Nut nyloc M5

Bolt M8x30

Bolt M8x20

Screw M6x10

Washer M10

Washer M8

Washer M8 fbb

Washer M6fbb

Washer M5az

Screw M5x8

Cortec bar

Dry-bag 125 g
Emerency stop

Filter stainless

Ferrule 0,75mm2 grey
Repair kit, swivel angled
O-ring sealing, set f svivel-cas
Woodruf

Actuator Joventa

O-ring sealing, motor-axle
O-ring 19,3 x 2,4 NBR 70
Rotojet Nozzle

Battery, OP-panel

Insex M6x25

Magnetic sensor, Tower
Adjustment pin

Qty

(6204, NS, NS, IS, S BEE N \C R \C RE e OV ]

- A A -
O O O O ot O o

= AN 222 WW 20 WWwWOaN =2 2N

Envirologic

P/N
961028

961041

984007

984005

904000

904011

941101

941020

941009

941064

941021

941019

941007

941022

941016

941088

941045

941087

941035

901193

907079

989244

961122

981042

964021

1209701

907074

907025

969001

969201

901112

989247

949006

981023

909251




